Exam #1, Math 8, Dr. M. Bohner, Sep 13, 00. | Name:

For this entire exam, let f(z) =5z — 1, g(z) = \/x, and a € IR. No notes, calculator!

1. Find £(6), g(a?®), (f o ¢)(0), (g o f)(1), the domains of f and g and go f, and the
intersection points of f - f and ¢ - g.

2. Show, using the definition of the limit, that lin% f(z) =4 and lirr{ g(z) =1
T— T—

3. Show, using the Intermediate Value Theorem, that f and g have an intersection point
in the interval (0,1). Use the bisection method to determine an interval of length 0.125

in which this point lies.

4. Calculate lim £&=£@) anq lim 7"(2:1(4)_
r—ra T—a t—4



